October 28 Math 2306 sec 51 Fall 2015

Section 7.2: Inverse Transforms and Derivatives

$$\mathscr{L}\{\alpha f(t) + \beta g(t)\} = \alpha F(s) + \beta G(s)$$

•
$$\mathscr{L}\{t^n\} = \frac{n!}{s^{n+1}}, \quad s > 0 \text{ for } n = 1, 2, ...$$

•
$$\mathcal{L}\lbrace e^{at}\rbrace = \frac{1}{s-a}, \quad s > a$$



Transforms of Derivatives

For y = y(t) defined on $[0, \infty)$ having derivatives y', y'' and so forth, if

$$\mathscr{L}\left\{y(t)\right\}=Y(s),$$

then

$$\mathscr{L}\left\{\frac{dy}{dt}\right\} = sY(s) - y(0),$$

$$\mathscr{L}\left\{\frac{d^2y}{dt^2}\right\} = s^2Y(s) - sy(0) - y'(0),$$

:

$$\mathscr{L}\left\{\frac{d^{n}y}{dt^{n}}\right\} = s^{n}Y(s) - s^{n-1}y(0) - s^{n-2}y'(0) - \cdots - y^{(n-1)}(0).$$



Solve the IVP using the Laplace Transform

(b)
$$y''-4y' = 6e^{3t}-3e^{-t}$$
 $y(0) = 1$, $y'(0) = -1$

$$\begin{cases}
\begin{cases}
\begin{cases}
y'' - 4y' \\
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\begin{cases}
\begin{cases}
y'' \\
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\begin{cases}
\begin{cases}
y'' \\
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\begin{cases}
\begin{cases}
\begin{cases}
y'' \\
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\begin{cases}
\begin{cases}
\begin{cases}
\end{cases} = 4e^{3t}
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\begin{cases}
\begin{cases}
\end{cases} = 4e^{3t}
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\begin{cases}
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\begin{cases}
\end{cases} = 6e^{3t}-3e^{-t}
\end{cases}$$

$$\end{cases} = 6e^{3t}-3e^{-t}$$

$$\end{cases}$$

$$A(2) = \frac{(2-3)(2-42)}{(2-3)(2-42)} - \frac{3}{(2+1)(2-42)} + \frac{2-2}{2-42}$$

$$\frac{6}{(s-3)s(s-4)} = \frac{A}{s-3} + \frac{B}{s} + \frac{C}{s-4}$$

Set S=3
$$6 = -3A \Rightarrow A = -2$$

S=0 $6 = 12B \Rightarrow B = \frac{1}{2}$
S=4 $6 = 4C \Rightarrow C = \frac{3}{2}$

$$G = \frac{3}{2}$$

$$\frac{-3}{(s+1)s(s-4)} = \frac{A}{s+1} + \frac{B}{s} + \frac{C}{s-4}$$

$$-3 = As(s-4) + B(s+1)(s-4) + Cs(s+1)$$
Substituting the second se

$$S = Y - 3 = 20C \Rightarrow (= -3)_{20}$$

$$\frac{S - 5}{S(S - Y)} = \frac{A}{S} + \frac{B}{S - Y}$$

$$S' - 5 = A(S - Y) + BS$$

$$S + S = 0 - S = -YA \Rightarrow A = \frac{5}{Y}$$

S=4 -1=48 => B= -1/4

< □ ▶ 4 酉 ▶ 4 夏 ▶ 4 夏 ▶ 9 ♀October 26, 2015 5/55

$$V(s) = \frac{-2}{5-3} + \frac{1}{5} + \frac{3h}{5-4} + \frac{-3ls}{5+1} + \frac{3l_4}{5} - \frac{3l_{20}}{5-4} + \frac{5l_4}{5} - \frac{1}{5-4}$$

$$Y(s) = \frac{-2}{s-3} + \frac{5h}{s} + \frac{-3h}{s+1} + \frac{-1}{s-4}$$

$$y(t) = y' \left\{ y(0) \right\}$$

$$= y' \left\{ \frac{-2}{5-3} + \frac{5l_2}{5} - \frac{3l_5}{5+1} + \frac{1l_{10}}{5-4} \right\}$$

$$= -2 y' \left\{ \frac{1}{5-3} \right\} + \frac{5}{2} y' \left\{ \frac{1}{5} \right\} - \frac{3}{5} y' \left\{ \frac{1}{5+1} \right\} + \frac{11}{10} y' \left\{ \frac{1}{5-4} \right\}$$



(c)
$$\frac{d^2y}{dt^2} + 9y = e^t$$
 $y(0) = 0$, $y'(0) = 0$
 $\mathcal{L}\{y'' + 9y\} = \mathcal{L}\{e^t\}$
 $\mathcal{L}\{y''\} + 9\mathcal{L}\{y\} = \mathcal{L}\{e^t\}$
 $S^2Y(s) - Sy(0) - y'(0) + 9Y(s) = \frac{1}{s-1}$
 $(s^2 + 9)Y(s) = \frac{1}{s-1}$

Partial Fradeon Decomp

$$\frac{1}{(s-1)(s^2+9)} = \frac{A}{s-1} + \frac{Bs+C}{s^2+9}$$

$$| = A(s^2+9) + (Bs+c)(s-1)$$

$$A+G = 0 \begin{cases} add \\ -B+C=0 \end{cases}$$

$$A+C=0$$

$$A$$

$$Y(S) = \frac{1/10}{S-1} + \frac{-\frac{1}{10}S - \frac{1}{10}}{S^2 + 9} = \frac{1/10}{S-1} - \frac{1}{10} = \frac{S}{S^2 + 9} - \frac{1}{10} = \frac{1}{S^2 + 9}$$

$$A(2) = \frac{1}{100} - \frac{10}{10} = \frac{65 + 35}{2} - \frac{30}{10} = \frac{3}{3}$$

$$y(t) = y' \left\{ y(s) \right\} = y' \left\{ \frac{1}{10} - \frac{1}{10} \frac{s^2 + 3^2}{s^2 + 3^2} - \frac{3}{10} \frac{s^2 + 3^2}{3} \right\}$$

$$= \frac{1}{10} \underbrace{1}_{10} \underbrace{1$$

Section 7.3: Translation Theorems

Suppose we wish to evaluate $\mathcal{L}^{-1}\left\{\frac{2}{(s-1)^3}\right\}$. Does it help to know that $\mathcal{L}\left\{t^2\right\} = \frac{2}{s^3}$?

Consider the definition of $\mathscr{L}\left\{e^{t}t^{2}\right\}$

$$\begin{aligned}
\mathcal{L}\left\{e^{t}t^{2}\right\} &= \int_{0}^{\infty} e^{-st} e^{t} t^{2} dt \\
&= \int_{0}^{\infty} e^{-(s-1)t} t^{2} dt
\end{aligned}$$

This is the Lopker Ironsform of t2

i.e. If
$$F(s) = \mathcal{L}\{t^2\}$$
 then $\mathcal{L}\{e^t, t^2\} = F(s-1)$.

Since here,
$$F(s) = \frac{2}{6^3}$$
, $F(s-1) = \frac{2}{(s-1)^3}$

$$\{e, \mathcal{L}\{e^{t}t^{2}\} = \frac{2}{(s-1)^{3}} \Rightarrow \mathcal{L}\{\frac{2}{(s-1)^{3}}\} = e^{t}t^{2}$$